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g 200 Mel+=¢
2 210 ZHEAA+Y

& 216 0| X% 2 CEERED
Z.n-8-2 ol &k 24 &1 0l ot o Bl Z 2t

ES A 358,946 356,720 2,226

200 M2l 8,511 10,398 A 1,887

210 & EM 2+ 8,511 10,398 A 1,887

216 Ol Xt==¢& 8,511 10,398 A 1,887

216-01 B30 =0l X+ 8,511 10,398 A 1,887

< sgJIsdH > 8,511 10,398 A 1,887

SEEENB 8,511

700 Ed L SHUEAHN 350,435 346,322 4,113

710 E&d S 350,435 346,322 4,113

714 X238+ 350,435 346,322 4,113

714-01 GIXI= 3 = 350,435 346,322 4,113

< sgJIsdH > 350,435 346,322 4,113

Ogrl OIxl= 350,435
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